Subject: Re: slope_intercept
Posted by Allan Whiteford on Fri, 01 May 2009 10:37:26 GMT

View Forum Message <> Reply to Message

d.poreh@gmail.com wrote:

> Folks

> | have a simple problem: | need to calculate the slope and intercept
> of a line that connecting two points [a,b] and [c,d]. | mean | have

> two points in a graph and | want slope and intercept of the line that
> connect these (two) points.

> Any help?

> Cheers

slope = (b-d)/(a-c)
intercept = b - slope * a

Probably :).
Thanks,

Allan
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